# STATE OF OHIO DEPARTMENT OF EDUCATION OFFICE OF QUALITY SCHOOL CHOICE & FUNDING Contract Amount for FY2021 Pursuant to O.R.C.3317.11 (B)(2) & (D)

ESC Name: Mid-Ohio ESC		ESC IRN: 123521	
District: Gallon City School		County: Richland	
		District IRN: <u>044024</u>	<del></del>
The above-named parties have amount of \$451,		ontract for services for fiscal year 202	20-21 in the annual
We, the undersigned, understan	nd that the above	annual amount will be deducted from	m state foundation
payments of the school district	and paid to the l	Mid-Ohio Educational Service Center	r on a semi-monthly
basis throughout the fiscal year			
Jennifer Allerdin Print District Superintendent N		Strict Superintendent Signature	<u>U17/202</u> e
Charlene Parkins Print District Treasurer		Charlene Parkinson  Strict Treasurer Signature	6-1-7-20 Date
Kevin D. Kimmel		onios rromans pignimus	
Print ESC Superintendent	lame ES	C Superintendent Signature	Date
Lorraine A. Earnest			
Print ESC Treasurer	lame ES	C Treasurer Signature	Date



## 2020-2021 Services Form **Mid-Ohio Educational Service Center**

**Exhibit A** "Estimate"

### Galion CSD

			2019-2020 FINAL				2020-2021 Estimate				
Service Type	District or MOESC Average	1 1		FTE Needed	Contract Amount		Rate		FTE	Contract Amount	
General Education Servi	ces		· · · · · ·								
<u>Teaching &amp; Learning</u> Lynn Meister (Team) <u>Talented &amp; Gifted Coordination</u>	Unit	\$	22,500	1.00	\$	22,500	\$	25,000	0.00	\$	•
Based on 10 Districts Participating Service level .5 FTE for EMIS reporting	Unit g	\$	18,500 (includes	2.00 ESC funding	•	37,000	\$ (da	23,000    es NOT include	2.00 funding cre	A PERSONAL	46,000
Special Educational & Related	Services								1		
Associate to the Psychologist Cristina Pawsey Speech/Language Pathologist	Average	\$	72,840	0.90	\$	65,556	\$	75,300	0.90	\$	67,770
Angela Skinner Occupational Therapist	Average	\$	90,300	0.60	-	54,180	\$	92,200	0.60		55,320
Ginny Utz65 FTE Katie Rehm - 1.0 FTE Michelle Webb40 FTE	Average	<b>  \$</b> 	88,410	1.65	\$	145,877	\$	92,000	2.05	\$	188,600
Physical Therapist Vincent Scala30 FTE Amanda Braen60 FTE	Average	\$	100,510	0.90	\$	90,459	\$	104,100	0.90	\$	93,690
<u>School Social Worker</u> Kirstie Naumoff	District	\$	70,180	1.00	\$	70,180	\$	- (invoiced un	0.00 der Service	100	nent)
							•			27 7 10	454 000

FY20 Contract Amount: \$

485,752 FY21 Estimated Amount: \$ 451,380

FY20 Credit Adjustment

(16,478)\$ 469,274

451,380

### **Contract Notes:**

- \* 5 days/week = 1 FTE
- \* Teaching & Learning declined for FY21.
- \* Increasing OT & OTA services from 1.65 FTEs to 2.05 FTEs.
- \* Staffing is subject to change due to re-assignments, resignations, new hires and district requests.

IN WITNESS THEREOF, the parties hereto have set their hands.

GALION CITY SCHOOLS

POARD OF FOUGATION

BOARD OF EDUCATION					
By Mts Man	6-16-20				
President (In his/her official capacity only)	Date				
And by	6-16-20				
Superintendent (In his/her official capacity only)	Date				
And by Charlene Parkens in	6-16-20				
Treasurer (In his/her official capacity only)	Date				
* This Agreement has no legal effect absent Board action					
MID-OHIO EDUCATIONAL SERVICE CENTER GOVERNING BOARD					
By	D .				
President (In his/her official capacity only)	Date				
And by					
Superintendent (In his/her official capacity only)	Date				
And by					
Treasurer (In his/her official capacity only)	Date				
* This Agreement has no legal effect absent Governing Board action					
Attachments: Board Resolution No.	_ (District)				
Board Resolution No. 8.4	_ (Mid-Ohio ESC)				

# R.C. 5705.41 and R.C. 5705.412 Certificate

We certify that the Board has in effect for the remainder of the fiscal year and succeeding fiscal years the authorization to levy taxes including the renewal or replacement of existing levies, which when combined with the estimated revenues from all other sources available to the district at the time of certification, are sufficient to provide operating revenues necessary to enable the Board to maintain all personnel and programs for all the days set forth in its adopted school calendars for the current fiscal year and for a number of days in succeeding fiscal years equal to the number of days instruction was held or is scheduled for the current fiscal year. We additionally certify that the amount required to meet the obligation of the fiscal year in which the attached contract is made has been lawfully appropriated for such purpose and is in the treasury or in the process of collection to the credit of an appropriate fund free from any previous encumbrances.

	the fiscal year in which the attached contract is make and is in the treasury or in the process of collections previous encumbrances.
Treasurer (In his/her official capacity only)	Superintendent (In his/her official capacity only)
16-16-20 Date  MHB M 52	6-16-20 Date
Board President (In his/her official capacity only)	
(0-16-20 Date	
<del></del>	5 VERIFICATION
I hereby certify that a copy of this Agr	eement was uploaded to the Ohio Department of
Education website on	·
S	Superintendent (or designee), Mid-Ohio ESC